Examlet 2 Foundations of Advanced Math 3/1/19

1. Write each of the sets below as simply as possible:
(a) Whatis {1,2) — (2,4}?
{1}
(b) What is’(;, 2) - [2,4]?
(1, 2)

(c) Whatis [1,2] — [2,4]?

L1, 2)
(d) Whatis {1,;}—LJ—{2,4}?

{1,2.4)
(€) Whatis (1,2) U [2,4]?

(1,47
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(f) Whatis [1,2] U (2,4)?
TI1,4)

(g) Whatis (1,2} N {2,4}?
21
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(h) What is [1,2] N [2,4]? - | ////x Aﬂ/é”/
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(i) Whatis {1,2} x {2,4}?
fa, 0o, o), (1.4))

(j) Whatis P({1,2}?
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4. Ifa,b,c € Rwitha < band ¢ < 0, then ac > bc.
toke 6<b and ¢<O. add -c to bobn sides

Og <O b&) tha (Onf«pr\«w:&)n addition ?Y{ﬁdpu " 50
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than  multiplyy both sides of 6<b by “C 7Y

the  Compauison multipfnCnation princple, SO

ﬁ(“-)<b(-c—) = -ac <-bc-

add GC and bc to both sides by CAP

AC ~ac +be < be-be+rac
bC<€~C, Wwhich 7s P SnL as
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5.Vx,y,z€R, |x+y +2| < |x| + |yl + |2I.
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